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Define a Tree. With suitable example explain:

i) Binary Tree
iD Complete binarY tree

iii) Strictly binary tree

iv) Skewed binary tree

W.ite the .ortines to ffaverse the given tresgsing
iii) ln-order traversal.i) Pre-order,ffaversal ii)Post-ordertrqyErsal

e given set of values 14, $,,4r 9,7, 18,

3,5, 16,20. Also perform inogdgj{, eorder, and postorder fiaVersal of the

obtained tree. .'r:l[: 
::1r!::"
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eir representation with a neat diagram'
.,. i",,rn

@cency matrix and adjacency list representation

for the following Sraph in Fig.Q.9(a

Briefly explain Breadth-First (gfSi and Depttr-First Search (DFS)
the BFS aii&, DFS traversals fod:thetraversal of a graph. A ; show

following graph in FigQ:9(b).

Q.e(b)

as follows: 7 7, 33 r, 44,.i1

algorithm.

gertion sort suppdtis"'m array contains 8 elements
', 88,22,66, 55i,Sort the array using insertion sort

What is h6shing? Explain th3.

examples:

hash functions with proper c04

i) Division ii) Midsquare iii) Folding.
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